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| (8) Consider the functions f(z) =
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(a) Compute h(2).
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(10) (a) State the definition of the derivative of a functzon ata pomt a. Use complete sentences '

Y’Q oﬂanw’ﬁvk o{( afa L Oéi
sy [/ (mq?x) () \
®) Lndett (o g S

> O
L ovourdaal Pha i i axiet.
Consider now the functlon '
f(z) = \/

(b) Compute the slope of the secent line. through the paint F(

@ 4040 Vi -ve' | 1]
| e-r '7 *

- (d) Use pan (c) to. wmpute f’(; ’

r.{(l)‘ﬂ«mqrg .ﬂ*"‘"“

O L wa

—

I A A(\/‘i'h‘?f—?)

SQ CcovGe M‘ho\kd £ 7 : 7V S '

Grcl coms POlitowd . sres] Ave OO |
(e) Compute the of the tangent line tothegraph f' at. thepomt.(l f(1)). Put

yomanswrmthefmmy ma -+ b. _

fmot—drcl ((n) =((, )

(m 3)(\/‘31)‘ '*“3)

ua?‘L . ){mw (QQ)

L




	page2 001.jpg
	page3 001.jpg
	page4 001.jpg
	page5 002.jpg
	page6 001.jpg
	page7 001.jpg
	page8 001.jpg
	page9 001.jpg
	page10 001.jpg
	page11 001.jpg

